Задания для групп:

1группа

1) х2+1,5х=0;

2) 2х2+х=0;

3) х2-2,5х-1,5=0;

4) х2–х-2=0;                (хнаим; хнаиб)

5) х2-4=0;

6) х2-3х-4=0;

7) х2-4,5х+2=0;

8) 2х2–х=0;

9) 2х2-3х=0;            (хнаиб; хнаим)

10) х2–х-0,75=0;

11) х2+2х+0,75=0;   )


Ответы: {цифра 1}

1) (-1,5; 0)

2) (-0,5; 0)

3) (-0,5; 3)

4) (-1; 2)

5) (-2; 2)

6) (-1; 4)

7) (0,5; 4)

8) (0,5; 0)

9) (1,5; 0)

10) (1,5;-0,5)

11) (-1,5;-0,5)



2группа

1) х2 -7х+12=0;

2) х2 -8,5х+16,5=0;    

3) х2 -8х+12=0;

4) х2 -6х=0.

5) х2 -5х-2,75=0;

6) 2х2 -х-1=0;

7) 2х2 -1х=0;

8) х2 -2,5х+1=0;

9) х2 -4х+3=0;           (хнаиб; хнаим)

10) х2 -6х+9=0;

11) х2 -6х+8,75=0;

12) х2 -4,5х+3,5=0;

13) х2 -6х+5=0;            (хнаим; хнаиб)      

14) х2 -7х+10=0;

15) х2 -6х+8=0;

1) 2х2 -5х+3=0;

2) х2 -3,5х+3=0;    

3) х2 -4,5х+5=0; 

4) 2х2 -7х+5=0;        (хнаим; хнаиб)


Ответы: {цифра 6}
1) (3; 4)
2) (3;5,5)

3) (2; 6)

4) (0; 6)

5) (-0,5;5,5)

6) (-0,5;1)

7) (0; 0,5)

8) (2; 0,5)

9) (3; 1)

10) (3; 3)

11) (2,5; 3,5)

12) (1; 3,5)

13) (1; 5)

14) (2; 5)

15) (2; 4)
1) (1; 1,5)

2) (2; 1,5)

3) (2; 2,5)

4) (1; 2,5)



3группа:

1) х2 -1,5х+0,5=0; 

2) х2 -2,5х+1,15=0;     

3) х2 -0,5х-1,5=0;            

4) х2 -3,5х+1,5=0;

5) х2 -6х+2,75=0;

6) х2 -6х=0;

7) х2 -4х-12=0;

8) х2 -2,5х-16,5=0;

9) х2 –х-12=0;              

10) х2 -2х-8=0;                (хнаим; хнаиб)

11) х2 -3х-10=0;

12) х2 -4х-5=0;

13) х2 -2х-3=0;

14) 2х2 +3х-9=0;

15) 2х2 +5х-3=0;


Ответы: {цифра 2}
1) (1; 0,5)

2) (1; 1,5)

3) (-1; 1,5)

4) (0,5; 3)

5) (0,5; 5,5)

6) (0; 6)

7) (-2; 6)

8) (-3; 5,5)

9) (-3; 4)

10) (-2; 4)

11) (-2; 5)

12) (-1; 5)

13) (-1; 3)

14) (-3; 1,5)

15) (-3; 0,5)



4группа:

1) х2-2х=0;

2) х2 -2х+0,75=0;     (хнаиб; хнаим)

3) х2-3х+2=0;

4) х2-4,5х+5=0;

5) х2 -4х+3=0;

6) х2-3х=0;

7) 2х2-3х-5=0;         (хнаим; хнаиб)

8) х2-1=0;

9) 2х2-0,5=0;

10) х2+х=0;

11) 2х2+5х+3=0;

12) х2+2х=0;           

13) х2+х-2=0;

14) х2-0,5х-3=0;

1) х2-х=0;

2) х2 -2х+1=0;

3) 2х2-6х+4=0;     (хнаим; хнаиб)

4) 2х2-4х=0;

1) х2=0;

2) х2+х=0;        (хнаиб; хнаим)

3) х2-1=0;

4) х2–х=0;


Ответы: {цифра 8}
1) (2; 0)

2) (1,5; 0,5)

3) (2; 1)

4) (2; 2,5)

5) (1; 3)

6) (0; 3)

7) (-1; 2,5)

8) (-1; 1)

9) (-0,5; 0,5)

10) (-1; 0)

11) (-1; -1,5)

12) (0; -2)

13) (1; -2)

14) (2; -1,5)

1) (0; 1)

2) (1; 1)

3) (1; 2)

4) (0; 2)

1) (0; 0)

2) (0; -1)

3) (1; -1)

4) (1; 0)



5группа:

1) х2-8х+15=0;

2) х2-11х+28=0;

3) х2-13х+42=0;         (хнаиб; хнаим)

4) х2-11х+30=0;

5) х2-14х=0;

6) х2–х-30=0;

7) х2+х-42=0;           (хнаим; хнаиб) 

8) х2+3х-28=0;

9) х2+2х-15=0;

10) х2+11х+30=0;   

11) х2+13х+42=0

12) 0,5х2+0,5х-21=0;    (хнаиб; хнаим)

13) х2+х-30=0;

1) х2-5х+4=0;

2) х2-6х+9=0;

3) х2-3х+2=0;          (хнаиб; хнаим)

4) х2+2х-8=0;

5) х2-16=0;

1) х2+х-2=0;

2) х2-9=0;

3) х2+3х-4=0;           (хнаим; хнаиб)

4) х2+8х+16=0;

5) х2+6х+8=0;    


Ответы: {часовня}
1) (5; 3)

2) (7; 4)

3) (7; 6)

4) (5; 6)

5) (0; 14)

6) (-5; 6)

7) (-7; 6)

8) (-7; 4)

9) (-5; 3)

10) (-5 ;-6)

11) (-6; -7)

12) (6; -7)

13) (5; -6)

1) (4; 1)

2) (3; 3)

3) ( 2; 1)

4) (2; -4)

5) (4; -4)

1) (-2; 1)

2) (-3;3)

3) (-4; 1)

4) (-4; -4)

5) (-2; -4) 







































